WEsRR-Y

ALMINUM SCREW JACKS

PIV=RAIUa—J v+

(ErON’

No.E-676

A5056
@7 ILERIDI=D . R— R TV SEANEEDIFEL A

OISy DYR—r I vyF EUTER T,

L—HCINIIEN

TSN A1\

1

A PN g R RTINS

|7)I/E°J17‘y$ﬂi79\y3‘><vl\ E

— : - £

29 0 3 -

@ I

on
BLEY AR
No. A B @ D E F G@E8) H@EE) HEg

ASJ- 70(H*B-R) 32 32 35 20 55 70 MI12x1.75 M16X2 = 100

ASJ- 95(H-B-R) 32 32 50 20 70 95 MI12x1.75 M16x2 = 140

ASJ-140(H-B-R) 32 32 75 20 95 140 MI12x1.75 M16X2 = 190
[ Lax s Rl =

ASJ-HEED) ASJ-BET7 LA MLE) ASJR(FR7 IV A NLEE)

Z+—5"—No. No. g “+—<"—No. No. Ll a3 Z+—<"—No. No. A&

113956 ASJ- 70H | 3,180 | 113878 ASJ- 70B | 3,180 | 113875 ASJ- 70R | 3,980 T

113957 ASJ- 95H 3,930 113879 ASJ- 95B 3,930 113876 ASJ- 95R 3,930 NYYNAR

113958 ASJ-140H | 5,420 | 113880 ASJ-140B | 5,420 | 113877 ASJ-140R | 5,420  crreeeeeeeeeeeees

R—JLEE/NA
== , o
PIL=VvvTFHERAI VR s
%5
m) o L <
O [ O
F F
E
C

W - EER
4—5—No.|  No. AGEE) BGLE) C D E F G HEg it

34475 | ASJ0816 | M 8x1.25  M16X2 21 12 9 3 1.5 5 940

34476 | ASJ1216 | MI12x1.75 M16X2 21 12 9 3 1.5 7 940

M—LR—=IT CAD T—9IDI U YO—REEERAN TEET,



	F214J_0521

